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Mathematics for Actuarial Science: Answer sheet 3

Sheet 5
. (a) %, (b) 0.
Ly =2z — 2.

—2ze ", 2(22% — 1)e ", £

Sl

Max: 9, Min: 8.
(a) 8I+x_127 8_%7
1

(b) —3, minimum at (—3,0),

2—2 1
Toar3 202

1

1 In 2.
5

18

15 2
142z (1+-2z)2 1+z°

%sin?’:c +C.

62:0

7—69”—0—0

(4x—3)5/2
40

o 3y3/
T LLNe
%taan—i-C.

—2cosy/z + C.
(z—5)7 8(z—5)8 64(z—5)°
= + =5+ B +C.

—5In|1 4 cos 30| + C.
1 1
—1g c0s 10t — ; cos 4t + C.

3 1 1
gt—l—zsm%—i—@smélt—i—a

10.

11.

Sheet 6

. (a) 32%Inz — 1a? + C.

(b)
(a)

(b) (3z 4 8)e® —3e” + C.

2*(Inz)? — 2 lnz + 122 + C.

O o=

(3z +8)32 + C.

(c) 2(3z+8)%2 —15(3z+8)%2+ C.

%xQ — %sinxcosx—i— isian—l—C.

_1,.n 2z n
In—§$6 - 94n—-1,

1e¥ (22 — 4a® + 622 — 62 + 3) + C.

(a) 3In7.



